ADAM CLAYTON LTD ED PURPLE SPARKLE JAZZ BASS®

,, (0190092787)
é, PARTS LAYOUT

]

(252927

|

=/  a

— 8

20021)22)23

10) 8

° 11 12(13114

. @ 11 12(13[14

15

s 12(13(16 (28

1 ©0060

18]19 - @@@

?%@[% COPYRIGHT - 2017 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 1 of 6
Oct 23, 2017 - PR5102 - Rev. A




ADAM CLAYTON LTD ED PURPLE SPARKLE JAZZ BASS®

0190092787
PARTS LIST
REF# DESCRIPTION PART

NUMBER

1 BODY J-BASS AM STD PURPLE SPARKLE 0056191587
2 NECK ASSY A.CLAYTON SIG J-BASS 7712229000
3 NECK PLATE CORONA,CAALUM CHROME 0054078000
4 SCREW SMA 8 X 1-3/4 OHP NI 0015636049
5 KEY BASS FENDER C/S W/BUSHING 0072260020
6 SCREW SMAB 3 X 3/8 RHP STL NI 0011357049
7 STRING GUIDE BASS CHROME 0994913000
8 SCREW SMAB 4 X 1/2 OHP NI 0015578049
9 PICKGUARD AM STD J-BASS WHITE PEARL 7705052000
10 PLATE CONTROL JAZZ BASS CHROME 0992057100
11 KNOB 2 LARGE 1 SMALL SKIRTED BLACK 0991370000
12 HEX NUT 3/8-32 X 3/32 TK NI 0016352049
13 WASHER LOCK INTL 3/8 X .687 0016436049
14 CONTROL 250K 10% 0990831000
15 CAPACITOR CD .05uF 100V 20% 0015552049
16 JACK PHONE OPEN CIRCUIT 0021956049
17 WASHER FLAT 3/8 X .614 NI 0031153049
18 BRIDGE ASSY HIGH MASS VINTAGE 0075124000
18A | BASE PLATE BASS HIGH MASS VINTAGE 0075125000
18B [ BRIDGE BACKSTOP BASS HIGH MASS VINTAGE 0075126000
18C | BRIDGE SADDLE BASS HMV 1-2 0075127000
18D |BRIDGE SADDLE BASS HMV 3-4 0075135000
18E [ SCREW 6-32 X 5/16 FHP ZI 0076154000
18F | SCREW CAP 6-32 X 1-1/2 HEX SKT BLX 0075394000
18G | SPRING TELE BRIDGE BLACK 0018872049
18H | SCREW SET 6-32 X 7/16 HEX SKT BLX NYLOK 0075354000
19 SCREW SMAB 5 X 1 OHP NI 0015610049
20 PICKUP ASSY NECK VINT JACO 0055198000
21 COVERS PICKUP JAZZ BASS SET 0992038000
22 SCREW WOOD 4 X 1-1/2 RHP NI 0078420000
23 WEATHERSTRIP 9/16 X 1/2 OPCL NEOP 0018556049
24 PICKUP ASSY BRIDGE VINT JACO 0055199000
25 STRAP BUTTONS W/HDWR CHROME 0063267049
26 WASHER FELT BLACK 0994929000
27 SCREWS WOOD 6 X 1 OHP NI 0016188049
28 FERRULES STRING AM STD BASS (4) 0048604049

*= NOT PICTURED IN DIAGRAM
?%@Z@g COPYRIGHT - 2017 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 2 of 6

Oct 23, 2017 - PR5102 - Rev. A




ADAM CLAYTON LTD ED PURPLE SPARKLE JAZZ BASS®

0190092787

REF# DESCRIPTION PART
NUMBER
* WRENCH KIT (0021109000, 7710885000, 0076157000) 0995504002
* WRENCH HEX KEY 1/16 (SADDLE HEIGHT ADJUSTMENT) 0021109049
* WRENCH ALLEN 3/16 (TRUSS ROD ADJUSTMENT) 7710885000
* WRENCH HEX KEY 7/64 BALL END (INTONATION ADJUSTMENT) 0076157000
* CASE CLAYTON CUSTOM J-BASS HOUNDSTOOTH 7712969000

*= NOT PICTURED IN DIAGRAM

?%@[% COPYRIGHT - 2017 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 3 of 6

Oct 23, 2017 - PR5102 - Rev. A




ADAM CLAYTON LTD ED PURPLE SPARKLE JAZZ BASS®

0190092787
WIRING ASSEMBLY

Somaseare \ © ©
— KNC ; /ON
7] NECK PICKUP
NECK PICKUP ©© ©© ©© ©© }J

VOLUME
% %

BRIDGE PICKUP
VOLUME

/AN 7O\
BRIDGE PICKUP
O OO0 OO0 00
\/ %
TONE
CONTROL
BLACK WIRE
TO BRIDGE
CAPACITOR
.05pF
OUTPUT
JACK

?%@[% COPYRIGHT - 2017 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 4 of 6
Oct 23, 2017 - PR5102 - Rev. A




ADAM CLAYTON LTD ED PURPLE SPARKLE JAZZ BASS®

0190092787
SWITCH AND CONTROL FUNCTION

dl
o
o

(@)
(@)
® @
(@)
k@/ ® &)
®
NECK ®
®
PICKUP

TSN /N §
[ 00 00 00 00 ‘
NEY4 e,

@
b NECK PICKUP
. @ VOLUME
BRIDGE BRI[\)/%IIE_SIIVICgUP
PICKUP . ‘\
MASTER
TONE

?%@[% COPYRIGHT - 2017 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 5 of 6

Oct 23, 2017 - PR5102 - Rev. A




ADAM CLAYTON LTD ED PURPLE SPARKLE JAZZ BASS®

0190092787
ADDITIONAL SPECIFICATION DETAIL
FRET SIZE: MEDIUM JUMBO NECK PROFILE: ADAM CLAYTON

(FRET DIMENSIONS ARE BEFORE INSTALLATION)

I 2-13/16> ' * NN N
M .800”

| TR | | PLEASE NOTE: AS EACH NECK
m IS SANDED & FINISHED BY ‘

.103” | HAND, THICKNESS DIMENSIONS
MAY VARY SLIGHTLY FROM
THOSE SHOWN.

1ST FRET PROFILE

046" * RN\ N\ "N\ NN
.%OKW
12TH FRET PROFILE
STAGGERED TUNING MACHINE W/BUSHING TUNING MACHINE THRU-HOLE

: P/N 0072260020 INNER DIAMETER .675”
OUTER SHAFT DIAMETER .540”

3.540" —=
n:E ‘
SADDLE HEIGHT ADJUSMENT WRENCH: TRUSS ROD ADJUSTMENT NUT:
1/16” HEX KEY P/N 0021109049 P/N 0048688049
SADDLE HEIGHT ADJUSTMENT SCREWS: P/N 0075354000 TRUSS ROD ADJUSTMENT WRENCH:

3/16” HEX KEY P/N 7710885000

1/16” HEX
A:_ (L L L
3/16” HEX @.375” % !
7/64” HEX ST
= = = 12-28——
INTONATION ADJUSTMENT WRENCH: THREAD
7/64 HEX KEY P/N 0995504002
LOGO: AM PRO J-BASS DECAL PICKUP_SPECIFICATIONS
APPLIED UNDER THE FINISH POSITION MAGNETS | DC RESISTANCE POLARITY

\/ NECK | ALNICOS 6.6 - 7.2KQ SOUTH

UNBEVELED

ALNICO 5 7.0-7.6KQ
BRIDGE | jNBEVELED NORTH

?%@[% COPYRIGHT - 2017 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 6 of 6
Oct 23, 2017 - PR5102 - Rev. A




